MathVine - Pre-Algebra

Subtracting Fractions
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Subtracting Fractions

Solution Steps

ns8 6
10 10
Since these

fractions have the
same denominator,
we can just subtract
the numerators

g% nuigeraiey

@_E:E

10 can be reduced,
since 2 is a factor of
both 2 and 10:

P 43N0y
107275

The fraction is now
in lowest terms

2) ﬂ 3
10 10
Since these

fractions have the
same denominator,
we can just subtract

tBe nurgerato7rs
10 10~ 10

15 2 4 16) 3 2
4 7 4 8
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Name
Date Period
33 7 92 9
8 8 9 9
Since these Since these

fractions have the

same denominator,

we can just subtract

?e rymeratgrs

8§88~ 8
4

—gcan be

reduced, since 4 is
a factor of both —4
and 8:

%4 1

—§T4= 2
The fraction is now
in lowest terms

fractions have the
same denominator,
we can just subtract

gwe néjmeratg;rs

979~ "9



1 3

44

Since these
fractions have the
same denominator,
we can just subtract
the numerators

1° ymeraiy

5)

1512—4
— g can be

reduced, since 2 is
a factor of both —2
and 4:

3 2 1

—31v3="3
The fraction is now
in lowest terms

5 2

7T 4

Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators

The least common
multiple of 4 and 7
is 28, so we need to
multiply to make

6)

each of the
gen%minaté)rs =28
S

47— 2
7 2 7 8 14
T4*7T 728
Since these

fractions have the
same denominator,
we can just subtract
he numerators

5 nurerety

268 28 — 28

2g can be reduced,

since 2 is a factor of
both 6_and 28:
gth b,and 2

2872714
The fraction is now
in lowest terms

5 2

9 5
Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators
The least common
multiple of 5 and 9
is 45, so we need to
multiply to make

7)

each of the
gen%minatgrs =45
= — —

4
) 25 9 0 18
T5%9T T 45
Since these

fractions have the
same denominator,
we can just subtract

g})e nui%erato7rs

45~ 45~ 45

1 2

10 2

Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators

The least common
multiple of 2 and 10
is 10, so we need to
multiply to make
each of the
dlenoTinatcirs =10

8)

101710
2 5 10
—2*%5= 710
Since these
fractions have the
same denominator,
we can just subtract
the numerators
1° "1 9

1010~ " 10



g2 O
7T 7
Since these

fractions have the
same denominator,
we can just subtract

g1e qglmeratgrs

TTTT T

10 2 2
5 5
Since these

fractions have the
same denominator,
we can just subtract
the numerators

tfre nymex;

5575

3 2

4 2

Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators

The least common
multiple of 2 and 4
is 4, so we need to
multiply to make
each of the
gen?mingtors =4

11)

4*17-4
272 4

—2%2= 74
Since these
fractions have the
same denominator,
we can just subtract
%he nijmerat?rs

4747 74

2 5

4 6

Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators

The least common
multiple of 4 and 6
is 12, so we need to
multiply to make
each of the
gen%minaéors =12

12)

1*3=12
53 2 10

“6%27 12

Since these

fractions have the
same denominator,
we can just subtract

tge nu%erators 4

12712~ 712
4

— 79 can be

reduced, since 4 is
a factor of both —4

12:
and 12y 4
“ti= 3

The fraction is now
in lowest terms



5 9

7 10

Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators

The least common
multiple of 7 and 10
is 70, so we need to
multiply to make

13)

each of the
gencir(?inatg{)s =70
o — —

7 910 . 70 63
T10*7T 770
Since these

fractions have the
same denominator,
we can just subtract

gbe nu(gr})erators13
70770~ 70

1493 1
6 6
Since these

fractions have the
same denominator,
we can just subtract

e numerators
pe npmey;
§_5:6
6 can be reduced,
since 2 is a factor of
Bothg anclj 0:
67273
The fraction is now
in lowest terms

2 4

4 7

Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators

The least common
multiple of 4 and 7
is 28, so we need to
multiply to make
each of the

geng%min%tzi)rs =28

1*7= 8
4748

15)

16
T7*4= 728
Since these
fractions have the
same denominator,
we can just subtract

tﬂf nui%erators2
28 9 28 28
— g can be

reduced, since 2 is
a factor of both —2

28:
and28 5 1
T28V2T 14

The fraction is now
in lowest terms

3 2

4 8

Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators

The least common
multiple of 4 and 8
is 8, so we need to
multiply to make
each of the
gengmin%tors =8

16)

a2
1718

—8*17 78
Since these
fractions have the
same denominator,
we can just subtract

g1e néjmeziators
§7878

g can be reduced,
since 4 is a factor of
EOthf an? 8:
87472

The fraction is now
in lowest terms



